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w2bA] A olE 12 x 2 4 70 = 94( cm?)
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214 = 30 x 2+(HH°l)
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(d9ol) = 214 - 60 = 154( cm?)
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680 =100 x 2 + 40 x| ]
680 = 200 + 40 x| |
40 %[ ] =680-200
40 x[_]=1480

[ ]=480+40 = 12(cm)
=0]7} 12¢cm | B2
(A-SHA 9] )= 10 x 10 x 12 = 1200( cm?)
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36 mL = 36 cm?

29 B1]: 11x5x 7 = 385(cm?)
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2o &2 F 15| H1]: 330 - 36 = 294(cm®)
A Kokt %‘—HJ. 385 — 294 = 91(cm?)
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(g mAe] Zyol) = (3 WMol Y

(A=A o] 2Eol)
= (2Wel) x2+ (dHol)
=(Bx4)x2+(5+4+5+4)x8
=20 % 2+ 18 x 8 = 40 + 144 = 184( cm?)
(A 0]9] g = 216 + 184 = 400( cm?)
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7t27F 36 cm, A 27t 31emQl AAMZEE o] Folof A TH o
7t27}F 8em, A|27F 6 cm ©]aL, =017F 7em? ASHA Y] ANEE
J84 o8 Utk ANEE e7a F2 Folo Yol 2 cm?
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(Zo19] Hol) =36 x 31 = 1116( cm?)
(A8 A o] HNE L] Wol)

= (8X6) X2+ (8+6+8+6)x7

= 96 + 196 = 292( cm?)
(g2 F°l9 Hel)
=(Zol9] Wol)-(A&HA 9] ANE9] Hol)
= 1116 — 292 = 824( cm?)




